
Grade 8 Mathematics Financial Literacy - GIC Calculation Sheet

GIC Calculation Sheet

Let’s explore a GIC being offered by your local bank.

Recall:

A equals 1 plus r divided n to the power of nt multiplied by p A = P   (1 +   r _ n  )    
nt

  

where:

t = the time the money is invested or borrowed, in years

n = the number of times per year that interest is compounded

A customer plans to invest $4,000.00 on a GIC that pays 4% interest per year 
compounded annually (once a year), for 5 years. Determine how much they will 
earn at the end of their 5-year savings period.
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